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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No. 

 

 
 

 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 19 h¢ & 

(I) Please check that this question 

paper contains 19 printed pages. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>18 àíZ h¢ & 

(III) Please check that this question 

paper contains 18 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 

 g§ñH¥$V_²   
SANSKRIT 

Ad{Y… : hmoamÌ`_²    nyUm©‘>m… : 80 
{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 80 
Time allowed : 3 hours Maximum Marks : 80 
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IÊS>… H$ : An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ)   10 A‘>m… 

SECTION A : Unseen Reading Comprehension 

IÊS>… I : aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©)  15 A‘>m… 

SECTION B : Writing Skills  

IÊS>… J : AZwà`wŠVì`mH$aU_² (AZwà`wº$ ì`mH$aU) 25 A‘>m…   

SECTION C : Applied Grammar 

IÊS>… K : n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ)  30 A‘>m… 

SECTION D : Reading Comprehension 

 

{ZX}em… : 
Instructions : 

(i) Apñ_Z² àíZnÌo MËdma… IÊS>m… gpÝV & 
 Bg àíZ-nÌ _| Mma IÊS> h¢ & 
 The question paper has four sections. 

(ii) àË`oH§$ IÊS>_² A{YH¥$Ë` CÎmam{U EH$pñ_Z² ñWmZo H«$_oU boIZr`m{Z & 
 àË`oH$ IÊS> Ho$ CÎma EH$ hr OJh na H«$_ go {bIZo hm|Jo & 
 The answers to each section must be written at one place. 

(iii) àíZg§»`m àíZnÌmZwgma_² Adí`_od boIZr`m & 
 àíZ-nÌ Ho$ AZwgma àíZ g§»`m Adí` hr {bIZr hmoJr & 
 Write the question number according to the question paper. 

(iv) gd}fm§ àíZmZm_² CÎmam{U g§ñH¥$VoZ boIZr`m{Z & 
 g^r àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 
 Answer all the questions in Sanskrit. 
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IÊS…> ‘H ’$ (SECTION A) 

An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ)  

 Unseen Reading Comprehension             10 A‘>m… 

1. AYmo{b{IV§ JÚm§e§§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 

 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 
 Read the following prose passage and write the answer of the given 

questions in Sanskrit.  10 

           {demIXÎm: H$mí_raamÁ`§ n[anmb`Z² AmgrV² & g: {ZVam§ XmZerb: AmgrV² & {H$ÝVw 

amÁ`ñ` `: Am`^mJ: ApñV, Vñ` A{YH$me§ YZ§ XmZmW©_² Ed ì``r{H«$`Vo B{V & Vñ` 
_pÝÌUo VV² BîQ>_² Z ^d{V ñ_ & AV: g: {MpÝVVdmZ² `V² EV{Ûf`o amOm {demIXÎm: 

{ZdoXZr`: B{V & na§ VX¡d {ZY©ZHw$bmoËnÞm H$m{MV² `wd{V: amk: {demIXÎmñ` g_rn_² AmJË` 

AdXV²  ‘‘_hmà^mo! df©Û`mV² nydª àd¥Îmo H$pñ_p̈íMV² AnKmVo __ n{V: {XdL²>JV: & Vñ_mV² 
Aml`a{hVm A^d_² Ah_² & __ EH$_mÌ§ nwÌ: `: ApñV g: A{n Vrd« ÁdaoU nr{S>V: ApñV & 

Vñ` {M{H$ËgmWª H¥$n`m ^dmZ² YZgmhmæ §̀ H$amoVw, `oZ ^dV: CnH$ma§ gXm ñ_ao`_² Ah_²’’  

B{V & nwZíM gJX²JX§ gm Aly{U òm{dVdVr & Vñ`m: XrZdMZ§§ lwVdV: {demIXÎmñ` öX`o 
H$éUm CËnÞm OmVm & g: Vñ ¡̀ eV§ ê$ß`H$m{U XÎdm Vm§ ào{fVdmZ² &    

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²)  

 EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
 Answer in one word. (Only two questions) 12=2 

(i) {demIXÎm: qH$ n[anmb`Z² AmgrV² ?  

(ii) {ZVam§ XmZerb: H$: AmgrV² ?  

(iii)  {demIXÎm: `wdË`¡ H${V ê$ß`H$m{U XÎdm Vm§ ào{fVdmZ² ?  

(~)  nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZÛ`_²) 

 nyU© dmŠ` _| CÎma Xr{OE & (Ho$db Xmo àíZ) 
Answer in a complete sentence. (Only two questions)  22=4 

(i) `wdË`m: XrZdMZ§ lwVdV: {demIXÎmñ` öX`o H$m CËnÞm OmVm ? 

(ii) `wdË`m: nwÌ: Ho$Z nr{S>V: AmgrV² ? 

(iii) amk: {demIXÎmñ` g_rn_² AmJË` `wd{V: ñdnË`w: {df`o {H$_² AdXV² ? 
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(g) Añ` AZwÀN>oXñ` H¥$Vo Cn`wŠV§ erf©H§$ g§ñH¥$VoZ {bIV & 

 Bg AZwÀN>oX Ho$ {bE Cn ẁº$ erf©H$ g§ñH¥$V _| {b{IE & 

Write the appropriate title for this passage in Sanskrit. 1 

(X) `Wm{ZX}e_² CÎmaV & (Ho$db§ àíZÌ`_²) 

{ZX}emZwgma CÎma Xr{OE & (Ho$db VrZ àíZ)  

 Answer according to instructions. (Only three questions)  13=3  

(i) ‘ào{fVdmZ²’ BË`ñ`m… {H«$`m`m… H$V©¥nX§ {H$_² ? 

(H$) Vm_² 

(I) g: 

(J) Vñ ¡̀ 

(ii) ‘amOm {demIXÎm:’ AZ`mo… nX`mo… {deofU§ {H$_² ? 

(H$) amOm 

(I) àOm 

(J) {demIXÎm: 

(iii) ‘AW©_²>’ BË`ñ` nXñ` H$… n`m©`… AÌ AmJV… ? 

(H$) YZ_² 

(I) nwîn_² 

(J) nÌ_² 

(iv) AZwÀN>oXo ‘AnH$ma_²’ nXñ` H$… {dn`©`… AmJV… ? 

(H$) YZgmhmæ`_² 

(I) CnH$ma_² 

(J) EH$_mÌ_² 
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IÊS…> ‘I’ (SECTION B) 

aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©) 

 Writing Skills 15 A‘>m… 

2. àYmZmMm`© à{V {b{IV_² AY… nÌ§ _ÄOyfmnXghm`V`m nya{`Ëdm nwZ: {bIV & 

 àYmZmMm`© H$mo {bIo JE {ZåZ{b{IV nÌ H$mo _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go nyU© 

H$a nwZ: {b{IE &  

 Complete the following letter written to your Principal, with the help of 

the words given in the box and rewrite the same. 
2

1
10=5 

 (i) ____________  

  àYmZmMm`©:, 

  amOH$s` Cƒ{dÚmb`:, {Vén{V: & 

 (ii) ____________ ! 

 g{dZ`§ {ZdoXZ_² ApñV `V² (iii) ___________ {nVm gd©H$mao EH$: MVwW©loUr  

(iv) ___________ ApñV & Vñ` _m{gH$-Am`: AVrd (v) ___________  

ApñV & `oZ n[admañ` (vi) ___________ H$m{R>Ý`oZ ^d{V & __ n[admao _mVm, 

{nVm (vii) ___________ ^«mVam¡ EH$m ^{JZr B{V (viii) ___________ gXñ`m: 

gpÝV >& AV: Ah§ ^dÝV_² (ix) ____________ `V² __ {dH$mgm{XewëH§$ j_mn`Vw &  

     ^dXr`: (x) ____________ 

                                 AmbmoH$: 

                      H$jm Xe_r A &  

 {XZmL²>H$: ____________ 

_ÄOyfm 

 

{eî`:,  Ý`yZ:,  Ûm¡,  godm`m_²,  __,  {ZdoX`m{_,  H$_©Mmar,  {Zdm©h:,  _hmoX`,  
nÄM & 
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3. AY: àXÎm§ {MÌ§ ÑîQ²>dm _ÄOyfm`m§ àXÎmeãXmZm§ ghm`V`m nÄM dmŠ`m{Z g§ñH¥$VoZ {bIV & 
 ZrMo {XE JE {MÌ H$mo XoIH$a _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go nm±M g§ñH¥$V dmŠ`m| 

_| dU©Z H$s{OE & 
 Describe the following picture in five Sanskrit sentences with the help of 

the words given in the box below. 15=5  

 

_ÄOyfm 

 
AWdm  (OR) 

 _ÄOyfmàXÎmeãXmZm§ gmhmæ òZ {ZåZ{b{IV§ {df`_² A{YH¥$Ë` nÄM{^: g§ñH¥$VdmŠ`¡: EH$_² 
AZwÀN>oX§ {bIV &  

 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go {ZåZ{b{IV {df` na nm±M g§ñH¥$V dmŠ`m| _| EH$ 
AZwÀN>oX {b{IE & 

 Write a paragraph in five Sanskrit sentences on the following topic with 

the help of the words given in the box. 15=5 

  ‘n`m©daU-àXÿfU_²’ 
_ÄOyfm 

 

 

n`m©daU_², dm`w_ÊS>b_², Xÿf`{V, àmH¥${VH§$, gÝVwbZ_², dm`w-àXÿfU_², Ob-àXÿfU_², ^dpÝV, 
Üd{Z-àXÿfU_², CnñWmn`{V, gL²>H$Q>_², ñdmñÏ`§, amoJm:, g§ajU_², d¥jm:, dZñn{V: &  

CÚmZo,  d¥jm:,  ~mbH$m:,  à{ejH$:,  ~m{bH$m:,  nañna§,  nmXH$ÝXþHo$Z,  {ejU§,  
H«$sS>pÝV,  ídoVdñÌm{U,  í`m_dñÌm{U,  XXm{V,  {dÚmb`:,  g_rno,  H«$sS>mjoÌo &  
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4. AYmo{b{IVm{Z dmŠ`m{Z g§ñH¥$V^mf`m AZyÚ {bIV & (Ho$db§ dmŠ`nÄMH$_²) 
 {ZåZ{b{IV dmŠ`m| H$mo g§ñH¥$V ^mfm _| AZwdmX H$aHo$ {b{IE & (Ho$db nm±M dmŠ`) 

 Translate into Sanskrit and write the following sentences.  

                                                                                 (Only five sentences)  15=5  

(i) í`m_m \$b ImVr h¡ & 
 Shyama eats fruits. 

(ii) h_ g~ nwñVH$ n‹T>Vo h¢ &   
 We all read a book. 

(iii) H$b {dÚmb` _| narjm hmoJr &  
 The examination will be conducted in the school tomorrow.        

(iv) H$b C_m H$hm± Wr ?  
 Where was Uma yesterday ?  

(v) Vw_ XmoZm| n‹T>mo &  
 Both of you read.  

(vi) AmH$me go dfm© hmoVr h¡ &  
 The rain comes from the sky.  

(vii) Š`m _¢ _obm OmD±$ ?  
 May I go to the fair ?  

IÊS…> ‘J’ (SECTION C) 
AZwà`wŠVì`mH$aU_² (AZwà`wº$ ì`mH$aU) 

 Applied Grammar 25 A‘>m… 

5. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXofw gpÝY¨ gpÝY{dÀN>oX§ dm H¥$Ëdm {bIV &  
  (Ho$db§ àíZMVwîQ>`_²) 
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| _| gpÝY AWdm gpÝY-{dÀN>oX H$aHo$ {b{IE &  
  (Ho$db Mma àíZ) 

 Write the underlined words of the following sentences after joining or 

disjoining Sandhis. (Only four questions)  14=4  

(i) J«rî_o n{WH$m: d¥jÀN>m`m§ godÝVo & 

(ii) g_j§ dV©_mZ: {eî`: AmkmH$mar ApñV &  

(iii) ho {_Ì ! Z_: + Vo &  

(iv) ho gmo_Xod ! gV² + _mJ} JÀN> &  

(v) H${da{n nwamUmo d«{V{Z{Y: &   
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6. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ g_mg§ {dJ«h§ dm àXÎm{dH$ënoä`… {MËdm {bIV &  
  (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| H$m g_mg AWdm {dJ«h {XE JE {dH$ënm| _| go MwZH$a 
{b{IE & (Ho$db Mma àíZ) 

 Choose and write the correct compound or expounded forms of the 

underlined words of the following sentences. (Only four questions) 14=4  

(i) VX¡d H¥$îUdU©: CS²>S>r` AmJV: & 

(H$) H¥$îU: dU©: `ñ` g: 

(I)  H¥$îU_² dU©_² `ñ`m: gm 

(J) H¥$îU: M dU©: M 

(ii) _w{Z: amOmZ§ `WoîQ>_² Aä`ZÝXV² & 

(H$) BîQ>oZ AZ{VH«$å` 

(I)  BîQ>m` AZ{VH«$å` 

(J) BîQ>_² AZ{VH«$å` 

(iii) am_: bd§ M Hw$e§ M Cndoe{`Vw_² H$W`{V & 

(H$) bdHw$em¡ 

(I)  bdHw$e_²  

(J) bdHw$eo 

(iv) ñZohoZ g{hV_² àH¥${V: gdm©Z² nmb`{V &  

(H$) ghgmñZoh_² 

(I)  ghñZoh_² 

(J) gñZoh§ 

(v) H$m{M{X`_² ì`mK«_² _ma`{V B{V gm &  

(H$) ì`mK«_mar 

(I)  ì`mK«Ymar 

(J) ì`mK«_ma: 
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7. AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ àH¥${V-àË``m¡ g§`moÁ` {d^Á` dm C{MV_² CÎma§ 
{dH$ënoä`: {MËdm {bIV & (Ho$db§ àíZMVwîQ>`_²) 

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| _| àH¥${V-àË``m| H$mo Omo‹S>H$a `m n¥WH²$ H$aHo$ C{MV 
CÎma {dH$ënm| go MwZH$a {b{IE & (Ho$db Mma àíZ) 

 Write the underlined words of the following sentences after joining or 

disjoining suffixes to roots or words, selecting the correct answer from the 

options given below. (Only four questions) 14=4  

(i) pñWa + Ëd bmKd§ _¥Om & 

(H$) pñWaËdVm 

(I)  pñWaËd_² 

(J) pñWaËdmV² 

(ii) nwÌñ` {nVam¡ à{V H¥$VkVm ^doV² &  

(H$) H¥$Vk + ŠV 

(I)  H¥$Vk + _Vwn² 

(J) H¥$Vk + Vb² 

(iii) gd}fw AnË`ofw OZZr dËgb + Q>mn² & 

(H$) dËgbm 

(I) dËgb: 

(J) dËgb_² 

(iv) ~w{Õ: ~bdV² + L>rn² VpÝd ! gd©H$m`}fw gd©Xm &  

(H$) $~bdVr 

(I)  ~bmdVr 

(J) ~brdVr$ 

(v) AÚ dm{f©H$: narjmn[aUm_: àmßñ`Vo &  

(H$) df© + _Vwn² 

(I)  df© + R>H²$ 

(J)  df© + Vb² 



 

 .52/E 10  

8. _ÄOyfm`m§ àXÎm¡: nX¡: dmÀ`n[adV©Z§ H¥$Ëdm AYmo{b{IV§ g§dmX§ nwZ: {bIV & 
 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go dmÀ` n[adV©Z H$aVo hþE {ZåZ{b{IV g§dmX H$mo 

nwZ: {b{IE & 
 Rewrite the following dialogue changing the voice with the help of the 

words given in the box.  13=3  

 í`m_m – a_o ! ~{h: godH$m: AmJÀN>pÝV &  
 a_m – í`m_o ! qH$ (i) ___________ _mJ©: n¥ÀN²>`Vo ?  

 í`m_m – a_o ! Am_², Vo _mJ©_² (ii) ___________ &  

 a_m – í`m_o ! V¡: (iii) __________ Z `mÀ`Vo &    
_ÄOyfm 

               
AWdm  (OR) 

 AYmo{b{IVmZm§ dmŠ`mZm§ dmÀ`n[adV©Z§ Hw$éV & (Ho$db§ àíZÌ`_²) 
 {ZåZ{b{IV dmŠ`m| _| dmÀ`-n[adV©Z H$s{OE & (Ho$db VrZ àíZ) 

 Change the voice in the following sentences. (Only three questions) 13=3 

(i) _hoe: nwñVH§$ nR>{V &   
(ii) ZdrZ: dmVmª ûm¥Umo{V &  
(iii) ^¥Ë`¡: ^ma: Ch²`Vo &  
(iv) Ëd§ nÌ§ {bI{g &  
(v) _oK¡: Ob_² d¥î`Vo &  

9. AYmo{b{IV{XZM`m©`m§ [aŠVñWmZm{Z H$mb~moYH$eãX¡: nya`V & (Ho$db§ àíZMVwîQ>`_²) 
 {ZåZ{b{IV {XZM`m© _| [aº$ ñWmZm| H$s ny{V© H$mb~moYH$ eãXm| go H$s{OE &  
                                                               (Ho$db Mma àíZ)  

 Rewrite the daily routine using words in place of figures.  
                                                                            (Only four questions)  14=4  

(i) gwYm gm`§ 6:00 _________ dmXZo H«$sS>{V &   

(ii) a_oe: àmV: 9:30 _________ dmXZo {dÚmb §̀ JÀN>{V &  

(iii) aodVr àmV: 7:15 _________ dmXZo àmVame§ H$amo{V & 

(iv) Jm¡ar gm`§ 5:30 _________ dmXZo ^«_Um` JÀN>{V &  

(v) JUoe: amÌm¡ 10:45 _________ dmXZo ñd{n{V &  

Ðì`§,  godH¡$:,  n¥ÀN>pÝV & 
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10. AYmo{b{IVdmŠ`of w [aŠVñWmZm{Z _ÄOyfmàXÎm¡: C{MV¡: Aì``nX¡: nya`V &  
                                                           (Ho$db§ àíZfQ²>H$_²)  
 {ZåZ{b{IV dmŠ`m| _| [aº$ ñWmZm| H$s ny{V© _ÄOyfm _| {XE JE Aì`` nXm| Ho$ Ûmam H$s{OE &   

                                                                    (Ho$db N>… àíZ) 
 Fill in the blanks in the following sentences with appropriate 

indeclinable words given in the box. (Only six questions)  
2

1
6=3  

(i) ___________ am_oída: nwñVH§$ n{R>VdmZ² & 

(ii) `moJoÝÐ: ___________ à`mJamO§ J{_î`{V &    

(iii) Ëd§ ___________ g_mJVmo@{g ?    

(iv) ___________ Vw e¡Ë`§ à{V^m{V &    

(v) ___________ am_: nR>{V VXm gmohZ: H$mobmhb§ H$amo{V &  

(vi) ___________ AdH$me: ApñV &  

(vii) VÌ CÚmZo ~mbm: ___________ ^«_pÝV & 

(viii) am_oU gh grVm ___________ dZ§ JVdVr & 

                           _ÄOyfm 

        

11. AYmo{b{IVdmŠ`ofw aoIm{‘>VnX_² AewÕ_² ApñV & ewÕ§ nX§ {dH$ënoä`… {MËdm {bIV &  
                                                                (Ho$db§ àíZÌ`_²)  
 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nX AewÕ h¢ & ewÕ nX {dH$ën go MwZH$a {b{IE &   

                                                                    (Ho$db VrZ àíZ) 
 Underlined words are incorrect in the following sentences. After selecting 

correct words from the options, write the same. (Only three questions) 

                                                                                    13=3  

(i) N>mÌm: nmR>§ nR>{V & (nR>V: / nR>{g / nR>pÝV)     

(ii) _oYm ø: {dÚmb §̀ Z JÀN>{V & (AJÀN>Vm_² / AJÀN>V² / AJÀN>Z²)  

(iii) d`_² íd: AmnU§ J{_î`{g & (J{_î`pÝV / J{_î`W: / J{_î`m_:)    

(iv) `y`§ nR>ÝVw & (Vm¡ / Vo / Ëd_²) 

gåà{V,  `Xm,  AÚ,  ø:,  Hw$V:,  A{n,  íd:,  BVñVV: & 
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IÊS…> ‘K’ (SECTION D) 

n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ) 
 Reading Comprehension 30 A‘>m… 

12. AYmo{b{IV§ JÚm§e§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 
 {ZåZ{b{IV JÚm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 

 Read the following prose passage and answer the given questions in 
Sanskrit.  5  

  {d{MÌm X¡dJ{V: & Vñ`m_od amÌm¡ Vpñ_Z² J¥ho H$íMZ Mm¡a: J¥hmä`ÝVa§ à{dîQ>: & VÌ 
{Z{hVm_oH$m§ _ÄOyfm_² AmXm` nbm{`V: & Mm¡añ` nmXÜd{ZZm à~wÕmo@{V{W: Mm¡aeL²>H$`m 
V_ÝdYmdV² AJ¥h²Umƒ, na§ {d{MÌ_KQ>V & Mm¡a: Ed Cƒ¡: H«$mo{eVw_ma^V ‘‘Mm¡amo@ §̀  
Mm¡amo@`_²’’ B{V & Vñ` VmañdaoU à~wÕm: J«m_dm{gZ: ñdJ¥hmX² {ZîH«$å` VÌmJÀN>Z² 
damH$_{V{W_od M Mm¡a§ _Ëdm@^Ëg©`Z² & `Ú{n J«m_ñ` Amajr Ed Mm¡a AmgrV² & VËjU_od 
ajmnwéf: V_² A{VqW ‘Mm¡amo@`_²’ B{V à»`mß` H$mamJ¥ho àm{jnV² &      

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 
EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ)  

 Answer in one word. (Only two questions) 
2

1
2=1  

(i) dñVwV: Mm¡a: H$: AmgrV² ?  
(ii)  H$sÑer X¡dJ{V: ?   
(iii) H$: EH$m§ _ÄOyfm_² AmXm` nbm{`V: ?  

(~) nyU©dmŠ`oZ CÎmaV & (Ho$db § àíZ_oH$_²) 
nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ)  

 Answer in a complete sentence. (Only one question)  11=1  

(i) J«m_dm{gZ: H§$ Mm¡a§ _Ëdm A^Ëg©`Z² ?  
(ii) ‘‘Mm¡amo@`§ Mm¡amo@`§’’ B{V H$: CÀM¡: H«$mo{eVw_ma^V ?    

(g) àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZÌ`_²) 
{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db VrZ àíZ) 

 Choose  and  write  the appropriate answer from the given  
options. (Only three questions) 13=3 

(i) ‘AX²^wVm’ BË`ñ` qH$ n`m©`nX§ JÚm§eo à`wŠV_² ? 
(H$) {d{MÌ_² 
(I) {d{MÌm 
(J) na_² 
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(ii) ‘A^Ëg©`Z²’ B{V nXñ` H$V©¥nX§ {H$_² ? 

(H$) J«m_dm{gZ: 

(I) {dÚm{W©Z: 
(J) ajmnwéfm: 

(iii) ‘J«m_dm{gZ:’ B{V nXñ` qH$ {deofUnX§ JÚm§eo à`wŠV_² ? 

(H$) Hw$ebm: 

(I) km{ZZ: 

(J) à~wÕm: 

(iv) ‘{ZJ©V:’ B{V nXñ` qH$ {dbmo_nX§ JÚm§eo à`wŠV_² ? 

(H$) à~wX²Y: 
(I) à{dîQ>: 

(J) {ZîH«$å` 

13. AYmo{b{IV§ nÚ§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 
 {ZåZ{b{IV nÚ H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 

 Read the following poetry passage and answer the given questions in 

Sanskrit.  5 

 _¥Jm _¥J¡: gL²>J_Zwd«OpÝV, JmdíM Jmo{^: VwaJmñVwaL²>J¡: & 

 _yIm©íM _yI£: gw{Y`: gwYr{^:, g_mZ-erb-ì`gZofw g»`_² &&  

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 
EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ)  

 Answer in one word. (Only two questions) 
2

1
2=1  

(i) VwaL²>J¡: gh Ho$ AZwd«OpÝV ?  

(ii)  _¥Jm: H¡$: gL²>J_² AZwd«OpÝV ? 
(iii) Jmo{^: gh H$m: AZwd«OpÝV ? 

(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 
nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ)  

 Answer in a complete sentence. (Only one question) 11=1  

(i) Ho$fw g»`§ ^d{V ? 

(ii)  gw{Y`: g§»`§ H¡$… gh ^d{V ? 
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(g) àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZÌ`_²) 
{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db VrZ àíZ) 

 Choose  and  write  the appropriate answer from the given  

options. (Only three questions) 13=3 

(i) ‘_¥Jm:’ B{V H$V¥©nXñ` {H«$`mnX§ {H$_² ? 
(H$) AZwd«OpÝV 

(I) d«OpÝV 

(J) gL²>J_² 

(ii) ‘{_ÌVm’ BË`W} AÌ qH$ nX§ à`wŠV_² ? 
(H$) gL²>J_² 

(I) g»`_² 

(J) g_mZ_² 

(iii) ‘Aídm:’ BË`ñ` nXñ` H$… n`m©`… íbmoHo$ à`wŠV… ? 
(H$) VwaJm: 

(I) _¥Jm: 

(J) Jmd: 

(iv) ‘{dÛm§g:’ BË`ñ` qH$ {dbmo_nX§ íbmoHo$ à`wŠV_² ? 
(H$) _¥Jm: 

(I) _yIm©: 

(J) gw{Y`: 

14. AYmo{b{IV§ ZmQ²>`m§e§ n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 
 {ZåZ{b{IV ZmQ>çm§e H$mo n‹T>H$a {XE JE àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 

 Read the following drama passage and answer the given questions in 

Sanskrit. 5  

H$mH$: – Am_² gË`§ H${WV§ Ëd`m  dñVwV: dZamO: ^{dVw§ Vw Ah_od `mo½`: &$  

{nH$: –  (CnhgZ²) H$W§ Ëd§ `mo½`: dZamO: ^{dVw§, `Ì VÌ H$m-H$m B{V H$H©$eÜd{ZZm 
dmVmdaU_mHw$brH$amo{f & Z ê$n_², Z Üd{ZapñV & H¥$îUdU©_² _oÜ`m_oÜ`^jH§$ 
Ëdm§ H$W§ dZamO§ _Ý`m_ho d`_² ?  
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H$mH$: – Aao ! Aao ! qH$ Oën{g ? `{X Ah§ H¥$îUdU©: V{h© Ëd§ qH$ Jm¡amL²>J: ? A{n M 

{dñ_`©Vo qH$ `V² __ gË`{à`Vm Vw OZmZm§ H¥$Vo CXmhaUñdê$nm ‘AZ¥V§ dX{g 

MoV² H$mH$: XeoV²’   B{V àH$maoU & Añ_mH§$ n[al_: EoŠ`§ M {dídà{WV_² & 

A{n M H$mH$MoîQ>: {dÚmWu Ed AmXe©ÀN>mÌ: _Ý`Vo &  

(A) EH$nXoZ CÎmaV & (Ho$db§ àíZÛ`_²) 

EH$ eãX _| CÎma Xr{OE & (Ho$db Xmo àíZ)  
 Answer in one word. (Only two questions)  

2

1
2=1  

(i) ‘dZamO: ^{dVw_² Ah_od `mo½`:’ B{V H$: H$W`{V ?  

(ii) H$mH$_² _oÜ`m_oÜ`^jH§$ H$: _Ý`Vo ? 

(iii) H$sÑe: {dÚmWu AmXe©ÀN>mÌ: _Ý`Vo ?  

(~) nyU©dmŠ`oZ CÎmaV & (Ho$db§ àíZ_oH$_²) 

nyU© dmŠ` _| CÎma Xr{OE & (Ho$db EH$ àíZ)  

 Answer in a complete sentence. (Only one question)  11=1  

(i) H$ñ` Z ê$n§ Z Üd{Z: ApñV ?  

(ii) H$mH$ñ` gË`{à`Vm OZmZm§ H¥$Vo CXmhaUñdê$nm H$W§ à{gÕm ApñV ?  

(g) àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & (Ho$db§ àíZÌ`_²) 

{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & (Ho$db VrZ àíZ)  
 Choose  and  write  the appropriate answer from the given  

options. (Only three questions)  13=3  

 (i) ZmQ²>`m§eo ‘_Ý`m_ho’ B{V {H«$`m`m: H$V¥©nX§ {H$_² ?  

 (H$) Ëdm_² 

 (I) d`_² 

 (J) {nH$:  
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 (ii) ‘`mo½`: dZamO:’ BË`Ì {deoî`nX§ {H$_² ? 

 (H$) `mo½`: 

 (I) dZamO: 

 (J) amO: 

 (iii) ZmQ²>`m§eo ‘H¥$îUdU©:’ BË`ñ` qH$ {dbmo_nX§ à`wŠV_² ? 

 (H$) ídoVdU©: 

 (I) aŠVdU©: 

 (J) Jm¡amL²>J: 

 (iv) ‘H$mo{H$b:’ B{V nXñ` n`m©`nX§ JÚm§emV² {MËdm {bIV &    

 (H$) dZamO: 

 (I) H¥$îUdU©: 

 (J) {nH$: 

15. aoIm{‘>VnXm{Z AmY¥Ë` àíZ{Z_m©U§ Hw$éV & (Ho$db§ àíZMVwîQ>`_²) 

 aoIm§{H$V nXm| Ho$ AmYma na àíZ {Z_m©U H$s{OE & (Ho$db Mma àíZ) 

 Frame the questions on the basis of underlined words.  

                                                             (Only four questions) 14=4 

(i) Ëd§ _mZwfmV² {~^o{f &  

(ii) JmÌmUm§ gw{d^ŠVVm ì`m`m_oZ g§^d{V &  

(iii) ghòm{YHo$fw nwÌofw gËñd{n gm Xþ:Ir AmgrV² &  

(iv) gd} àH¥${V_mVa§ àU_pÝV &  

(v) Mm¡añ` nmXÜd{ZZm A{V{W: à~wÕ: &  
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16. _ÄOyfmV: g_w{MVnXm{Z {MËdm AYmo{b{IVíbmoH$`mo: AÝd`§ nya`V & 
 _ÄOyfm _| go g_w{MV nX MwZH$a {ZåZ{b{IV XmoZm| íbmoH$m| Ho$ AÝd` H$mo nyU© H$s{OE & 

 Complete the prose order of the following two shlokas by choosing the 

appropriate words given in the box.  
2

1
4=2  

I. d`mo~bearam{U XoeH$mbmeZm{Z M &   
 g_rú` Hw$`m©X² ì`m`m_Ý`Wm amoJ_mßZw`mV² && 
 AÝd`: –  

 (OZ:) d`mo~bearam{U XoeH$mb – (i) _________ M (ii) _________ ì`m`m__² 

Hw$`m©V² (iii) __________ amoJ_² (iv) __________ &   

II. AnË`ofw M gd}fw OZZr Vwë`dËgbm &   
2

1
4=2 

 nwÌo XrZo Vw gm _mVm H¥$nmÐ©öX`m ^doV² &&  
 AÝd`: –  

 OZZr (i) _________ AnË`ofw M (ii) _________ (^d{V) & gm _mVm  
(iii) __________ nwÌo Vw (iv) __________ ^doV² & 

_ÄOyfm 
 

    
AWdm  (OR) 

 _ÄOyfm`m… gmhmæ òZ àXÎmíbmoH$ñ` ^mdmW} [aŠVñWmZm{Z nya{`Ëdm nwZ… {bIV & 
 _ÄOyfm H$s ghm`Vm go íbmoH$ Ho$ ^mdmW© _| [aº$ ñWmZm| H$s ny{V© H$aHo$ nwZ… {b{IE & 

 Rewrite after filling the blanks in the meaning of Shlokas with the help 

of box.  14=4  

 {nVm `ÀN>{V nwÌm` ~më`o {dÚmYZ§ _hV² & 

 {nVm@ñ` qH$ VnñVono BË ẁ{ŠVñVËH¥$VkVm && 
 ^mdmW©: –  

 {nVm Vw nwÌñ` (i) _________ Vñ_¡ loîR>§ (ii) __________ àXmVw§ gX¡d VËna: 
^d{V & g_W©: OmV: nwÌ: `Xm H$W`{V `V² ‘{nVm __ H¥$Vo Vw _hmÝV_² 
(iii) _________ H¥$VdmZ²’ B{V VX¡d Vñ` {nVa§ à{V (iv) __________ H$Ï`Vo &  

_ÄOyfm 

   
H¥$VkVm,  l__²,  ~më`H$mbo,  {dÚmYZ_² & 

 g_rú`,  AmßZw`mV², AeZm{Z,  gd}fw, AÝ`Wm,  H¥$nmÐ©öX`m,  XrZo,  Vwë`dËgbm 
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17. AYmo{b{IV§ H$Wm§e§ g_w{MV-H«$_oU {bIV & 

 {ZåZ{b{IV H$Wm§e H$mo g_w{MV H«$_ _| {b{IE & 
 Write in correct order, the following parts of the story. 

2

1
8=4  

(i) VoZ {dÎmoZ ñdnwÌ_² EH$pñ_Z² _hm{dÚmb ò àdoe§ Xmn{`Vw§ g\$bmo OmV: &  

(ii) H$íMZ {ZY©Zmo OZ: ^y[a n[alå` {H${ÄMX² {dÎm_wnm{O©VdmZ² & 

(iii) AWm©^mdoZ nr{S>V: g ~g`mZ§ {dhm` nXm{Vaod àmMbV² & 

(iv) nXm{VH«$_oU g§MbZ² gm`§ g_`o@{n g: JÝVì`mX² Xÿao AmgrV² & 

(v) Vñ` nwÌ: VÌ¡d N>mÌmdmgo {ZdgZ² AÜ``Zo g§b½Z: g_^yV² & 

(vi) $VV: g nmíd©pñWVo J«m_o am{Ì{Zdmg§ H$Îmwª H${ÄMX² J¥hñW_wnmJV: &  

(vii) EH$Xm {nVm nwÌñ` é½UVm_mH$Ê`© VÌ V§ ÐîQw>§ àpñWV: &  

(viii) ‘{ZemÝYH$mao àg¥Vo {dOZo àXoeo nX`mÌm Z ew^mdhm’, B{V g ñ_¥VdmZ² &   

18. ‘H$’ ñVå^o {b{IVmZm§ nXmZm§ n`m©`nXm{Z ‘I’ ñVå^o {b{IVm{Z gpÝV, Vm{Z `WmH«$_oU g_j§ 
{bIV & (Ho$db§ àíZÌ`_²) 

 ‘H$’ ñVå^ _| {b{IV nXm| Ho$ n`m©` nX ‘I’ ñVå^ _| {bIo JE h¢ & CZH$mo `WmH«$_ go CZHo$ 
g_j {b{IE & (Ho$db VrZ àíZ) 

 Synonyms of the words of column ‘Ka’ have been given in column ‘Kha’. 

Write in correct order in front of required words. (Only three questions) 13=3  

 H$  I 

 agmb_²  _ÝÌr 

 XeZ¡:  XeeV_² 

 ghò_²  Am_«_² 

 A_mË`: XÝV¡: 

AWdm  (OR) 
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 AYmo{b{IVdmŠ`ofw aoIm{‘>VnXmZm§ àgL²>JmZwHy$b_² C{MVmWm©Z² {MËdm {bIV &  
  (Ho$db§ àíZÌ>`_²) 

 {ZåZ{b{IV dmŠ`m| _| aoIm§{H$V nXm| Ho$ àg§JmZwgma C{MV AW© H$mo MwZH$a {b{IE &  
  (Ho$db VrZ àíZ) 

 Write the appropriate meaning after choosing the underlined words of 

the following sentences. (Only three questions) 13=3 

(i) Vñ` ^m`m© ~w{Õ_Vr {nV¥J¥h§ à{V M{bVm &  

(H$) ^Vm© 

(I)  nËZr 

(J) OZZr 

(ii) d«O{V {h_H$a: ~mb^mdmV² &  

(H$) {ZemH$a: 

(I) {XdmH$a: 

(J) ^mñH$a: 

(iii) {nH$mo dgÝVñ` JwU§ Z dm`g: &  

(H$) _`ya: 

(I)  H$mH$: 

(J) dH$:  

(iv) g Ed d{h²Z: XhVo eara_² &  

(H$) H$ar  

(I)  d¡ar 

(J) A{½Z: 

 


